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tstart=D0Y357 15:21 +/- 5.7 [min.]
radial velocity= 372. +/- 76. [km/sec]
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SMM C/P 1988 DOY357 238 +/- @ degrees

height= h + velXtime + 1/2%accelXtime*%x2 # data points = 3
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tstart=D0Y357 16:30 from derivative=0
Event begins at 3.19 Solar Radii

radial acceleration= @.6175 +/- 0.00080 [km/secxx%x2]
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tstart=D0Y357 16:30 from derivative=0

Event begins at 3.19 Solar Radii
radial acceleration=0.617E+00 km/sec*x%x2
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This is a 1 order run
skeskoskok ok ok skok ok ok sk sk sk okoske sk skoskeskeosk sk
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INPUT:

sekokokokkok

error in error in
year doy time radii radius angle angle datatype
1988 357 16:27:51 3.20 +/-0.10 230.0 +/- 0.5 SMM
1988 357 16:36: 7 3.25 +/-0.15 230.0 +/- 1.0 SMM
1988 357 16:52:35 4.00 +/- 0.15 230.0 +/- 1.0 SMM
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Structure being measured:

Fuzzy Top of Frent.- wa} “
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OUTPUT:

kokskok ko skok

START TIME:

Event began at t = 0 + -0.592E+02 +/- 0.569E+01 [minutes]

In more convenient units:

Event began at DOY 357 15:21 +/- 0.569E+01 [minutes]

Origin defined at DOY357 16:20

RADIAL INFORMATION:

RADIAL VELOCITY = 372.+/- 76. km/sec

The computed RADIAL coefficients and errors FROM NLLST?2 are:

c(1) = 0.290E+01 +/- 0.121E+00 [solar radii]

c(2)= 0321E-01 +/- 0.653E-02 [radii/min]

c(2) = 0.372E+03 +/- 0.757E+02 [km/sec]

c(3) = 0.000E+00 +/- 0.000E+00 [radii/min**2]

c(3) = 0.000E+00 +/- 0.000E+00 [km/sec**2]

The computed ERRORS in coefficients [BEVINGTON)] are:
error in c(1)= 0.21934E+00 [radii] see Bevington pg. 114
error in ¢(2)= 0.10216E-01 [radii/min] see Bevington pg. 114

ANGULAR INFORMATION:

ANGULAR VELOCITY = 0.0000E+00 +/- 0.0000E+00[radians/sec]

The computed ANGULAR coefficients and errors FROM NLLST? are:




a(1) = 230. +/- 0. [degrees]

a(2) = 0.000E+00 +/- 0.000E+00 [degrees/min]
a2) = 0.000E+00 +/- 0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2]
a(3) = 0.000E+00 +/- 0.000E+00 [rad/sec**2]

THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:

The TANGENTIAL velocity at 16:27 = 0. km/sec
The TOTAL velocity at 16:27 = 372. km/sec

The TANGENTIAL velocity at 16:36 = 0. km/sec
The TOTAL velocity at 16:36 = 372. km/sec

The TANGENTIAL velocity at 16:52 = 0. km/sec
The TOTAL velocity at 16:52 = 372. km/sec
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The following info is for estimating goodness of the fit
sk skeoke ok sk ok ok skeske sk sk skook seskosk sk sk sk sk sk sk sk sk skok sk sk skoskok sk skook skok sk sk skok sk ok skok skok sk sksk ok sk sksk ko

Fit is ok [ier=1]

Standard Deviation in the height = 0.45

Standard Deviation in start time measurement =  (0.103E+02
Error in time = 0.56690E+01 using best fit method

See Taylor Error Analysis [Univ of Colorado] pg.78

Value of reduced Chi Squared returned from nlist2 = 0.127E-01
Reduced Chi Squared = 0.668E-01

Chi Squared = 0.668E-01

The probability for exceeding chi square = 0.910E+00

The correlation coefficient = 0.961E+00

The probability that no LINEAR correlation exists between the variables =

SEE BEVINGTON "Data Reduction and Error Analysis" [1969]

0.1774E+00
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This is a 2 order run
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INPUT:

seokskskoskskk

error in error in
year doy time radii radius angle angle datatype
1988 357 16:27:51 3.20 +/-0.10 230.0 +/- 0.5 SMM
1988 357 16:36: 7 3.25 +/-0.15 2300 +/- 1.0 SMM
1988 357 16:52:35 4.00 +/- 0.15  230.0 +/- 1.0 SMM
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Stracture being measured:
Fuzzy Top of Front
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OUTPUT:
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START TIME:

tstart=DOY357 16:30 from derivative = 0
Event begins at 3.19 Solar Radii
Origin defined at DOY357 16:20

RADIAL INFORMATION:

RADIAL ACCELERATION = 0.617E+00 +/- 0.101E-04 km/sec**2
The computed RADIAL coefficients and errors FROM NLLST?2 are:
c(1) = 0.335E+01 +/-  0.796E-05 [solar radii]

c(2) = -0.322E-01 +/- 0.106E-05 [radii/min]

c(2) = -0.374E+03 +/- 0.123E-01 [km/sec]

c(3) = 0.160E-02 +/- 0.261E-07 [radii/min**2]

c(3) = 0.617E+00 +/- 0.101E-04 [km/sec**2]

ANGULAR INFORMATION:

ANGULAR ACCELERATION= 0.0000E+00 +/- 0.0000E+00[radians/sec**2]
The computed ANGULAR coefficients and errors FROM NLLST? are:
a(1) = 230. +/- 0. [degrees]

a(2) = 0.000E+00 +/-  0.000E+00 [degrees/min]

a(2) = 0.000E+00 +/- 0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2]
a(3) = 0.000E+00 +/-  0.000E+00 [rad/sec**2]




THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:
The TANGENTIAL velocity at 16:27 = 0, km/sec
The TOTAL velocity at 16:27 = -83. km/sec

The TANGENTIAL velocity at 16:36 = 0. km/sec
The TOTAL velocity at 16:36 = 223, km/sec

The TANGENTIAL velocity at 16:52 = 0. km/sec
The TOTAL velocity at 16:52 = 833. km/sec
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The following info is for estimating goodness of the fit
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Number data points = number of coefficients. No error analysis is possible.

Correlation coefficient is not computable!




height [solar radiil

.50

.20

.50

.00

.50

.00

.50

.00

.52

SMM C/P

height =

1988 DOY357

h + velocityXtime

230 +/- B degrees

# data points =

3

TT T T [T T T T [T T TR T T T T[T T T T[T T T T[T T T T[T T T T T T T T T TTT

.00 LA L O O B O AR O O

JbﬁfégﬂBrlght R

TTTTTTTT
MLDQW”(L

S=SMM M=MK3 P=PMON

SMM & MK3 - CORRECTED TIMES

[TTTTT

R

lll]llllllll!||lll!llll

i
- gf?\M<«4 fe

bt Tleck 2 g

I

IR T OO T O T IO YO T N U N N NN YO0 (N T N (N T AN T T T O A

16:20
DOY357

16:30 16:40

16:

50

tstart=D0Y3bh7 15:47 +/-

radial

velocity=

501 .

+/-

17.00 1710

1.4 [min.]
42 . [km/sec]

.00 I T O O O T T T U O A U I U O A A A O I O

17:20



SMM C/P 1988 DOY3%7 238 +/- @ degrees

height= h + velXtime + 1/2%accelXtimexx*2 # data points = 3
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DOY357

tstart=D0Y357 16:21 from derivative=0
Event begins at 2.75 Solar Radii
radial acceleration= 0.4288 +/- 0.0000 [km/sec*x%2]
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poY357
tstart=D0OY357 16:21 from derivative=0
Event begins at 2.75 Solar Radii
radial acceleration=0.429E+00 km/sec*k%x?2
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This is a 1 order run
sheokokok sk ok sk skokok sk Rk SRk sk sk ok ok sk kR

skokkekokoskk

INPUT:

skokskskskok ok

error in error in
year doy time radii radius angle angle datatype
1988 357 16:27:51 2.80 +/- 0.10 230.0 +/- 0.5 SMM
1988 357 16:36: 7 3.00 +/- 0.15 230.0 +/- 1.0 SMM
1988 357 16:52:35 3.85 +/-0.10 230.0 +/- 1.0 SMM
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Structure being measured:

Top of Bright Ring
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OUTPUT:

seokokskoskokkk

START TIME:

Event began at t = 0 + -0.330E+02 +/- 0.138E+01 [minutes]

In more convenient units;

Event began at DOY 357 15:47 +/- 0.138E+01 [minutes]

Origin defined at DOY357 16:20

RADIAL INFORMATION:

RADIAL VELOCITY = 501. +/- 42. km/sec

The computed RADIAL coefficients and errors FROM NLLST2 are:

c(1) = 0.243E+01 +/- 0.812E-01 [solar radii]

c(2)= 0432E-01 +/- 0.361E-02 [radii/min]

c(2)= O0.501E+03 +/- 0.419E+02 [km/sec]

c(3) = 0.000E+00 +/- 0.000E+00 [radii/min**2]

c(3) = 0.000E+00 +/- 0.000E+00 [km/sec**2]

The computed ERRORS in coefficients [BEVINGTON] are:
error in ¢(1)= 0.15379E+00 [radii] see Bevington pg. 114
error in c(2)= 0.71627E-02 [radii/min] see Bevington pg. 114

ANGULAR INFORMATION:

ANGULAR VELOCITY = 0.0000E+00 +/- 0.0000E+00[radians/sec]

The computed ANGULAR coefficients and errors FROM NLLST2 are:



a(1) = 230. +/- 0. [degrees]

a(2) = 0.000E+00 +/- 0.000E+00 [degrees/min]
a(2) = 0.000E+00 +/- 0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2]
a(3) = 0.000E+00 +/- 0.000E+00 [rad/sec**2]

THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:
The TANGENTIAL velocity at 16:27 = 0. km/sec
The TOTAL velocity at 16:27 = 501. km/sec

The TANGENTIAL velocity at 16:36 = 0. km/sec
The TOTAL velocity at 16:36 = 501, km/sec

The TANGENTIAL velocity at 16:52 = 0. km/sec
The TOTAL velocity at 16:52 = 501. km/sec
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The following info is for estimating goodness of the fit
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Fit is ok [ier=1]

Standard Deviation in the height = 0.56

Standard Deviation in start time measurement =  0.103E+02
Error in time = 0.29541E+01 using best fit method

See Taylor Error Analysis [Univ of Colorado] pg.78

Value of reduced Chi Squared returned from nllst2 = 0.498E-02
Reduced Chi Squared = 0.316E-01

Chi Squared = 0.316E-01

The probability for exceeding chi square = 0.944E+00

The correlation coefficient =  0.988E+00

The probability that no LINEAR correlation exists between the variables = 0.9813E-01

SEE BEVINGTON "Data Reduction and Error Analysis" [1969]
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This is a 2 order run
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INPUT:

seskskekokoskk

error in error in
year doy time radii radius angle angle datatype
1988 357 16:27:51 2.80 +/- 0.10  230.0 +/- 0.5 SMM
1988 357 16:36: 7 3.00 +/- 0.15 230.0 +/- 1.0 SMM
1988 357 16:52:35 3.85 +/- 0.10 230.0 +/- 1.0 SMM
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Structure being measured:
Top of Bright Ring
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START TIME:

tstart=DOY357 16:21 from derivative = (
Event begins at 2.75 Solar Radii
Origin defined at DOY357 16:20

RADIAL INFORMATION:

RADIAL ACCELERATION = 0.429E+00 +/- 0.102E-05 km/sec**2
The computed RADIAL coefficients and errors FROM NLLST? are:
c¢(1) = 0.275E+01 +/- 0.823E-06 [solar radii]

c(2) = -0.238E-02 +/- 0.109E-06 [radii/min]

c(2) = -0.276E+02 +/- 0.127E-02 [km/sec]

c(3)= O0.111E-02 +/- 0.265E-08 [radii/min**2]

c(3) = 0.429E+00 +/- 0.102E-05 [km/sec**2]

ANGULAR INFORMATION:

ANGULAR ACCELERATION= 0.0000E+00 +/- 0.0000E+00[radians/sec**2]
The computed ANGULAR coefficients and errors FROM NLLST? are:
a(1) = 230. +/- 0. [degrees]

a(2) = 0.000E+00 +/-  0.000E+00 [degrees/min]

a(2) = 0.000E+00 +/- 0.000E+00 [rad/sec]

a3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2]
a@3) = 0.000E+00 +/- 0.000E+00 [rad/sec**2]




THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:
The TANGENTIAL velocity at 16:27 = 0. km/sec
The TOTAL velocity at 16:27 = 174, km/sec

The TANGENTIAL velocity at 16:36 = 0. km/sec
The TOTAL velocity at 16:36 = 387. km/sec

The TANGENTIAL velocity at 16:52 = 0. km/sec
The TOTAL velocity at 16:52 = 811. km/sec
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The following info is for estimating goodness of the fit
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Number data points = number of coefficients. No error analysis is possible.

Correlation coefficient is not computable!




